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seflgn / MATHEMATICS 8024887

|
(80D wHmid < kide aulpl / Tamil & English Versions)

Cwrid : 2% wenfl | [ Qurés wHLQuETsET : 100
Time Allowed : 2% Hours | [Maximum Marks : 100
SiMleyeny 1 (1) eS| efenTasEnn sArs Es) ugleurd o erergm GTE0TLI & 6601

sfluriggé QsmerereyLb. SiFsULSlele @enpud Qe SDME
samareniluurartlb o | emqwirs Qzfel&sayib.
2) peod =heg smLIL enwulene L HCW eTpgiaugnEL LweTURhSS
CeuamT(Qid. LI Riser aUDeIsHE ClLesled LiweTL@SseLb.
Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2)  Use Black or Blue ink to write and pencil to draw diagrams.

GOy = Qeuellanmgsmdr prene, Gfeysears QaramTL_g).

Note : This question paper contains four sections.

19fley - I/ SECTION -1
(LHUQuaser : 15) / (Marks : 15)

@Oy : () @U9feQé o ¢rer 15 eflenTés(@psE Lo eflenL_wiaf&&eLb. 15x1=15
(i) Gaer@sslul_Herar Bresi@ eflent_sefled asaybd sfwrer eflen_amwig;
CaibOsBhss GHuSL L sl uleneamuyd Geigg GT(LPG5.
Note : ()  Answer all the 15 questions.

(i)  Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.

1. &Gy Csr@&suul Hereraaised SUDTET o) 6T ?

(1) A/B=AnB’ (<) A/B=ANB
(@) A/B=(AUB)~B’ (%) A/B=AUB/B
Which one of the following is not true ?

(@) A/B=AnB’ (b) A/B=A~B
(c) A/B=(AUB)~B’ i (d) A/B=AUB/B
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Fall 3

ay, ay, az ... GTELIEN 6(h Fal (G QT Gurﬂecp&uﬁl@ ;j”:E eTaTmLily @)(H&ELD

erafile) =18 sl (g Az euflensulien 13 eugl o miy

3
(=) 5 (<) 0 @ 123 () 142

ay _3
If a;, a,, a5 ... are in A.P. such that ;‘7‘”5, then the 13th term of the AP is :

3
(a) ) (b) O (€ 12 a4 (d) 14 a;

R0 Qu®mEGS AL aiflwsler wse Brarg =GS55065 o niliLiseien
ClLumsspLIE 256, Sigean Qurg elfsb 4 WHMID s WPsd 2 miil Blas
eramt erafled, b QUEmEESSASTLT euflensufen 3 cug 2 miiL :

1 1
(=) 8 () 7 @ = () 16

If the product of first four consecutive terms of a G.P is 256 and if the common ratio is
4 and the first term is positive, then the 3™ term is :

@ 8 (b) "¢ € 2 (d) 16

x2-25 . L5 s Pl

i3 TOLMS 7 B AIGEGLD Gurgl flenL_&@b ey :
(=) (x=5) (x=3) (=) (x—5) (x+3)
(@) (x+5) (x—3) (E), (45 (x43)

x2 =25 145
i by D is equal to :

(@) (x=5) (x-3) (b) (x—35) (x+3)
(€)  (x+5) (x~3) (d) (x+5) (x+3)

On dividing




3

a + 0 eranm MBS SWETLITH ax2+bx+c=0 6T APOESEH a WHMID B erafed

G 6iTeL (HeLaTeUHMIET 6TEI SEUMTET Snpm ?

: _
(@) o2+ = —— (<) aB=9,

-
€

R |~

@ o+B=7 b e &

2
_ br=2ac (b) a[3=%

—_
=
=]
[}
+
™
[
|
b2

~b
L

™|

1
() o+tB= (d) 5 +
emeu(meuaeLDMIET eThSE smbm Quwragode ?
(<) Hevsulel semilwneng @b F&IT Sjewflum@d
(<21) ppepeelll L iellwrang @ sSIT Siemilur@h
@) Heowsuled siemlurarg @@ epameeill L Sa@ilwurg

) ppeoeellL elurag ¢ dosuded samilurgb

Which one of the following statement is not true ?
(@) A scalar matrix is a square matrix

(b) A diagonal matrix is a square matrix

(c) A scalar matrix is a diagonal matrix

(d) A diagonal matrix is a scalar matrix

7y—2x=11 erenip CrICsHTL_Iq.601 FTiI6] :

~7
(@) 5 (<) % @)

NN
3

The slope of the straight line 7y—2x=11 is equal to :

—7 %
@ > ® © = @
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10.

4

y=2x+k erenip Cur&Gan@® (1, 2) erenm Laarf] auflé Ceordlarng erafler k e
Sl :

(<1) 0 (<) 4 @) 5 () -3

If a straight line y=2x+k passes through the point
to:

(1, 2), then the value of k is equal

@ 0 (b "4 (© 5 d -3

&Caremmiser ABC wpmib DEF sefléy £B=/E OMID LC=LF erafle :

AB _CA BC _ AB AB _ BC CA _AB
(=) BE = &F (<) £ = Fp @ oF = & ™ T = &
In triangles ABC and DEF, /B=/E, /C= /F then :

AB _CA BC _ AB AB _ BC CA _AB
@  BE = EF ® B~ ©) DET EE @ 5 =

Qram® ey Qeurss &Caramiiseien LFlLaTa sdT opGw 16 Gl&.152 hmib
36 Gle. 182 . wso WeCaramsHer GSHWLTD 3 G&.8 erafle, wH &
W&Cararssler igmen 55 GSSIWLITD :

(1) 6.5 Q.8 (<) 6 Q& (@) 4 Q.15 () 4.5 Qs.8

The area of two similar triangles are 16 cm? and 36 cm?2 respectively. If the altitude of
the first triangle is 3cm, then the corresponding altitude of the other triangle is :

(a) 6.5cm (b) 6cm (c) 4cm (d) 4.5cm



11.

12

13.

5 3471

t?_ A

3 3 : :
x=a sech, y=Db tanb eraflled —5 — o L :
a

(=) 1 (=) —1 (@) tan?6 (7F) cosec?8
x?. y2

If x=a sech, y=b tan, then the value of e = EZ“

(@) 1 {th) =1 () tan? (d) cosec?8

sin (90°—6) cosf +cos (90°—6) sin® =

(1) 1 (<) 0 @) 2 (¥ =1

sin (90°—8) cos® +cos (90°—6) sinf =

(@ 1 (b) 0 © 2 (d -1

@@ Cpieul L o mevarudlen iiqliLigsls urliny 80 &.0&.15, sigar 2 wirb 5 Qe.15
crafled o (Henemudler semm 4ermey

(1) 400Q&..85 3 (<) 16Q&.5 3 (@) 200Q&.8 3 (7F) % Q&.153

Base area of a right circular cylinder is 80cm?. If its height is 5cm, then the volume is
equal to :

400
(a) 400cm3 (b) 16cm? (c) 200cm? (d) —é—cm3
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14. S eSeurrugeafilen gal & gymef wHmid L Slessd peopCGuw 48, 12 erafld
rour’ H&6sw :

(1) 42 (<) 25 (@) 28 (FF) 48
Mean and standard deviation of a data are 48 and 12 respectively. The coefficient of

variation is :
(a) 42 (b) 25 (c) 28 (d) 48

15. @@ U eu@plbeoers aihLwrarg 53 @Gruidnsspawser wLHMD 53
Ss dlpenwsdr Garamg@muugnarear Hspssea, :
1 2 3
(@) 7 () 7 @ 7 (w) 0

The probability that a non-leap year will have 53 Sundays and 53 Mondays is :

i 2 3

@) L @ = (@ o

| 8fley - 11/ SECTION - II
(wHLQuewraer : 20) / (Marks : 20)

GO : () uSs NamésseErss el welssab. 10x2=20
(i) oflerr erawm 30 &@E savglurs oL walssad. WS
14 denrssailelmng Casaibd 9 cllamssamens Csiey GEuiwieLb.
Note : (i) Answer 10 questions.

(i) Question number 30 is Compulsory. Select any 9 questions from the first
14 questions.

¥ x =0 ! ) .
16. |x|= {_x’ v <0 T Curg @miE x e R. {(x, y)/y=|x|, x € R} eretim 2 mey,

ST UETUNISEDST ? DiF6 IGFaD SMens.

xifx =0

D where x € R. Does the relation {(x, y)/y=|x|, x € R} define a

Let |x|= {

function ? Find its range.
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18.

19.

20.

7 3471

13423433+ ..+ n® = 36100 eTafled 1+2+3+...+n a7 FUDUS STETS.

If 13+23+3%+...+ n®= 36100 find 1+2+3+...+n.

x=7 wHYL x=-1 cTer FHwmismers Gerarl @ @muly. LO@IMLILE

Careneuenlisds STeHTs.

1
Find a quadratic polynomial with zeros at x=— and x= —1

4

30 2 Mg QerarL aflsE areueims eiflensser @QMmss @Quigid ?

A matrix consists of 30 elements. What are the possible orders it can have ?

- :
A=(1 2 -1),B=|1]|eraflle, (AB) - eowis sranrs.
4
2
IfA=(1 2 -1)B=|1]| then, find (AB)".
4
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3471

21.

22,

23.

8

A (6,7), B (-4, 1) wpmbd C (a, —9) Hweupern Wo&aTeHs olsTeim
AABC - a ULl 68 &.@@s6r erafley a - e WHUMUS STETE.

If the area of the AABC is 68 sq.units and the vertices are A (6,7), B (—4, 1), C (a, —9)
taken in order, then find the value of a.

(=5, —2) ererrp Lerefl cuflé QEDeugid 2 AESFSEHES ST TEIgLDme
CrirCar@safien snamLT(HEmaTs &meims.

Find the equation of the straight lines parallel to the coordinates axes and passing
through the point (-5, —2).

N RaGss o b

MP eramug AMNO - & £M -a Qeuefiiiyp @@ swdeuliy. Cogin NO - ar
Brdlerer P - W shHaAng. MN=10 @s.85, MO=6 G&.15, NO= 12 C&.i5
erasfler OP &3 SHTauTs. ®

S
A &

‘6 cm
N 12em O P

In a AMNO, MP is the external bisector of /M meeting NO producted at .

If MN =10 cm, MO =6 cm, NO= 12 cm then find OP.



24,

25,

26.

27.

28.

9 3471
cosf

secl —tan® =1+ sind erenp @m@mn@mmmm ‘@QJGH‘EE-

cosB 2
Prove the identity m =1+ sinf

> Sl 2-WpepeTer @ Spieuat @ granflslhbgl 100 Sig. 1réde ey eisen
2 &flenw 45 D& Caremger LMTSSTE Giewflam e Wb erae 2

A boy of height 5 feet away from the pillar of distance 100 feet saw the top of the pillar
with angle of elevation 45. Find the height of the pillar.

R glewro CBi Ul L& salblfen g ssnnatay 236 QF.i5, DML AFET ETWFID
12 Q&8 erafler igambifen cuamatliLFlienU STas.

If the circumference of the base of a solid right circular cone is 236 cm, and its slant
height is 12 cm. Find its curved surface area.

62.37 5.08.15 sa1 Syeme) QsraTL @ Hemio CrpireulL 2 Hevaruden o wiptd
45 Gg.15 erafler wicueymananlen < rsmss srans.

Volume of a solid cylinder is 62.37 cu.cm. Find the radius, if its height is 4.5 cm.

@@ yarafl efleurgSem wrmur (& Qs 57 wHmib gL eflewssid 6.84 erafled,
3iFe sal (HEsTTEfemuS Sreams.

If the coefficient of variation of a collection of data is 57 and its S.D is 6.84, then find
the mean.

[ HHLys / Turn over
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29. paiE sms5gH AHGE waussLULL 52 & Psmard QsTarL & M
sligdlmhg &0 eumlili) epepudled @@, &0 aRssLLEEDS. b &6
wGuLTEGeur (spade) dwg @rrerairsGoun (king) @mUUSHETa
Blasnsseilanans srams.

A card is drawn at random from a well shuffled deck of 52 cards. Find the probability
that it will be a spade or a king.

s 1. 26
30. (=) 815 : b =
AN
(<) A={510,15, 20} ; B={6, 10, 12, 18, 24 } wpmib C={ 7, 10, 12, 14, 21, 28 }
U saTEISERES A\(B\C)=(A\B)\C eranLig QUILITGION 6rem yrmiis.

1 26

S 1 i, e ke

(a) Solve: x sy
OR

(b) For A={5,10,15 20};B={6,10, 12,18, 24 } and C={ 7, 10, 12, 14, 21, 28 }
Verify whether A\ (B\C)=(A\B)\C.

91fley - 11T / SECTION - III
(dllCuamaeT : 45) / (Marks : 45)

@Oy : () 9 Namsseséss S wellssayb. 9x5=45
() oflenr eraw 45 &@ samglurs el@Lwalssan. WPsD
14 ellenrésaflelmbal TCamib 8 elamssmans Csiay Q&iiwieb.
Note : (i) Answer 9 questions.

(i) Question number 45 is compulsory. Select any 8 questions from the first
14 questions.

31. @@ BersHlad 85% Cui opmifle Qomd, 40% Cui sup Qurs wHmb 20%
Cuir @pd Cwrd Cusdlprisar. 42% Cuir sBlupL <mdeowbd, 23% Gui
sllpb Qbdub wpmib 10% Guir < adod @bduyb Cuasdyriser erafle,
e Gurflsmeryd Gus Qsfbgersaiar sseissHmans srams.

In a town 85% of the people speak English, 40% speak Tamil and 20% speak Hindi,

Also, 42% speak English and Tamil, 23% speak Tamil and Hindi and 10% speak English
and Hindi. Find the percentage of people who can speak all the three languages.



32.

33.

34.

35.

36.

11 3471

N @6 Que aarsafler sarb. f eramn &riL f:No>N, f(x)=x2-1 eran
umTUN&ESILGEDG. @& @@ FTIUT erar eflumiss. &ML @eana eraie
glovenr LIILILES®S LIDH ADLESTD STTLTS Lrmiwr ? Sjeueurmeie
2 flu giwamodliLssms srems.

If f: N>N is defined by f (x) = x2—1, check whether fis a function. If f is not a function,
find for what choice of the co-domain, fwill be a function ?

R &LBS Csrii eiflensuder 10 wpmib 18 2p6ugl 2 mLiser weopGu 41
LpmIb 73 erafled, 27 oeug o mlimUs Srars.

The 10'h and 18 terms of an A.P are 41 and 73 respectively. Find the 27th term,

R0 OUy LOQINULE Careeuulenar (x—2) LOMD (x+1) gy Slweuhmmed
wGEGL Gurg 188 wepCu 11 womb 1 A& QH&EEGCLWraTTd
SlLueimLiLg Caraeuulamans srears.

If a quadratic polynomial is divided by (x—2) and (x+1) leave the remainders 11 and
1 respectively, find the polynomial.

sryeliLB$81s : a3 +13x2 +32x +20

Factorize : x> +13x2+32x + 20

xt—6x>+1922-30x+25 - &1 o TEEAPDEMSE ST .

Find the square root of x*—6x3+19x2—30x + 25.

[ SpLiys / Turn over
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37.

38.

39.

40.

12

: =1
Az(z 3] erefléd A2—4A+5I, = 0 erem Blimie|s.

1 -
HA=(2 3 ] then show that Az—4A+512 =)

(=4,5),(0,7), (5, —5) oMb (-4, —2) < Aw Lerafsamer POMETTSE OlsmemTL
BrO&rSHen LUFlienLs STers.

Find the area of the quadrilateral formed by the points (-4, 5), (0, 7), (5, —5) and
(—4"—2).

3x—y+9=0, x+2y=4 o du Cpié Car@ser Qeul HiberafluyL e, 2x+y—4=0,
x=2y+3=0 dw Cprs Car@ser Qeul B yerefaw QeansEn Copis
Camiig6r FETUT DL& STas.

Find the equation of the straight line joining the point of intersection of the lines
3x—y+9=0and x+2y=4 and the point of intersection of the lines 2x +y—4=0 and
x—2y+3=0.

SlqlivenL cilélgsws Coppims erpd Hmeys.

State and prove Basic Proportionality theorem.



41.

42.

43.

44,

13

@ 2FfCeausls CGuri wreard sy wLLsHO®BHS 3000 8. 2 wrsHeo,
HEprm xHCausl Curi afwraisams Coir Cuarss SL&EG. Sjeueur)
sL&@L Gurgl sar wlLsHe e @GOG L udﬁaﬂuﬁlaﬂ@‘rjﬁgg} <2i6u Ml o1
eHps GCaranmmiser peppGuw 60° HmiD 45° erafle, <ibs ChrsSd QrewTLreug)
Guri efloremd wHmb wged Guri elwrertd pSweundinGg @evL Ll L
gTEess sansdlhs. (3 =1.732 )

A jet fighter at a height of 3000 m from the ground, passes directly over another jet
fighter at an instance when their angles of elevation from the same observation point
are 60° and 45° respectively. Find the distance of the first jet fighter from the second jet

at that instant. (Use /3 =1.732)

120 Q&8 Berpid, 84 Q.8 e L qpidb Qamadr G sTe@MW FWLILIGSSID
2 et s Qeram® o elmerurl B e sLULESSULGEDS.
elemerurHsdLme soluBSs @eiaymeer 500 (s SEDMSET &P
Geuar(Bib.eflevamur_ RgSLema swLLBSS R &80 L [HEE 75 @ust eSsib,

glLemad suLULRSS < ED Qswamais 85W6&UT65.(1T=§ TGS )

The diameter of a road roller of length 120cm is 84cm. If it takes 500 complete
revolutions to level a playground, then find the cost of levelling it at the cost of 75 paise

22
per sq.metre (Take 7w= = )-

Memeumd wglusefler brmur’ (s Qaweameis samrad(Hs :

20, 18, 32, 24, 26.

Calculate the coefficient of variation of the following data : 20, 18, 32, 24, 26.

52 &_(aser QsrarrL g L& s qedl®mbg s euriiliy weapudd R FLG
rhHEsuuBD Curg, ESLG @m @rrer (King) idag g aprit (Heart )
Slag @ fauliy Bing &L rss devLiusparer Bspsselamars sredms.

A card is drawn from a deck of 52 cards. Find the probability of getting a King or a
Heart or a Red card.

3471
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45. (1) @@ &mL(bHs Qarfléd g m e mluyseler gal LD LO@IGED, (PGS n
o muiyseaflan sl Lh Loas@h Qe Guujerer aflélgb m? : n? erafley m
<peug 2 miliy LHMID n Beug 2 YUl HpSumeiser (2m—1) : (2n—1)
erenm ellflgsHler emujd erar ST (HS.

3|6V )

(=) 1418, e Lpd wHMbD 20 5. Sppepeter @n SHawrm 2 (Hevar aulgeild
Qaul L u@®épgl. sieueurn Qeul B Curg Caraimg GuimiEs UL L et
Srre urtutuC @ 20 Bx 14 S Sieteysaned BiglILGHLNE GsTeaL e
sad Qecueaus CL®LIWLTS &SI LTD b CuenLuler 2wy
SITEHTE.

(a) The ratio of the sums of first m and first n terms of an arithmetic series is m2 : n?
Show that the ratio of the mth and nt! terms is 2m—1) : (2n—1).

OR

(b) A cylindrical shaped well of depth 20m and diameter 14m is dug. The dug out
soil is evenly spread to form a cuboid platform with base dimension 20 m X14 m.
Find the height of the platform.

Wifley - IV / SECTION - IV
(HLGUeRTSHeT : 20) / (Marks : 20)

GHILY : @aQearm dammeilgib 2 drer @ran@ wrHn darssaladBbg @@®
ammaveus CoibOs058 B eamssEps@h oo welssean. — 2x10=20

Note : Answer both the questions choosing either of the alternatives.

46. (=) 3 Q&8 repatar Ul Lgdlar ewwsHal®mng 9 Qg8 Ggreaeild b
Leraflevwis Ghss. suyeraflulalmpg el LsHnE @@ Csr@h GCarBHser
uMIHE DiGen BerhiGmer SamsslHs.

3{60605)]
(=) AB=6 Q&.15 £C=40° wpmid 2. &8 C ulell(mbg AB - &@ eueruLLILL
G&816CaTH Herd 4.2 Q&5 Qaremm_ AABC auenys.

(a) Take a point which is 9cm away from a circle of radius 3cm and draw the two
tangents to the circle from the point.

OR

(b) Construct a AABC such that AB=6cm, ZC=40° and the altitude from C to AB is
of length 4.2cm.
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<3|) QUENTLILID PLPEDLD FTHSH. x°—2xr—3=
(1) b pped § 2_2x-3=0
I VENE |

(<2) @ Cumpg warfléE 40 £.8 Caussder Qevdlng. @sp@EHu &7 - ST
GSITD T CFTLTL@L W aumFULLD s, Qeamst vwetu(hss 3
wanfl Crrsdledr QUCLMmBE Lwalss srsmss sras.

(a) Solve the equation x>—2x—3=0 graphically.
OR

(b) A bus travels at a speed of 40km/hr. Write the distance - time formula and draw
the graph for it. Hence find the distance travelled in 3 hours.

-00o0-



